6 2 COLLECT_TRAY Egg collection tray. ABS 1mm.
5 4 JISB1169-M 8 Eyebolt nut M8
4 16 1ISO 4032 - M8 Hexagonal nut M8. Stainless steel.
3 4 Threaded rods GB/T 15389-1994 M8 x 1000 | Threaded rods M8. Stainless steel.
2 1 UPPER_PLATE PMMA Upper Plate
1 1 BOTTOM_PLATE PMMA Bottom Plate
Item Quantity Part Description
Name Date ‘ @
Designed | G. Salvador-Herranz  |10/12/2018 ‘ Qﬂ@ AT
Revised |R. Argies 10/12/2018 | wamarem |nsect Pest Control Section
Scale Number
16 PMMA Aedes Cage v AEDES_CAGE_V1

mm

Complete Structure - Assembly

Sheet

2/15




